B APNaLS_4eALA

UEILA40_LZA4E Y

alphal3_4eX1X:cyclenum {run == 6598}

[

0.5

6601 6601.5 6602 6602.5 6603
cyclenum

delta46_12X4eY:cyclenum {run == 6598}

PRI I RPN IR
6601 6601.5 6602 6602.5 6603
cyclenum

alpha4b_4ey4ay

6600

3599.5

6599

3598.5

6598

3597.5

6597

3596.5

6596

alpha46_4eY4aY:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

run:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

deltal3_lzx4ex

segment

o
2

25

15

05

deltal3_12X4eX:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum
segment:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 6598}

P -
e e e eeeeamaenaaaaan .-

6601 6601.5 6602 6602.5 6603
cyclenum

usl_4eY:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

usl_12X:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603

cyclenum

usl_sex

6600

3599.5

6599

3598.5

6598

5597.5

6597

3596.5

6596

usl_4eX:cyclenum {run == 6598}

[

6601 6601.5 6602 6602.5 6603
cyclenum

run:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603

cyclenum



USI_L1A

usI_aey

0.5

=

usr_1X:cyclenum {run == 6598}

P -
e e e eeeeamaenaaaaan .-

6601 6601.5 6602 6602.5 6603
cyclenum

usr_4eY:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

usr_12X:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603

cyclenum

usr_aex

6600

3599.5

6599

3598.5

6598

5597.5

6597

3596.5

6596

usr_4eX:cyclenum {run == 6598}

[

6601 6601.5 6602 6602.5 6603
cyclenum

run:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603

cyclenum



1829.4
0829.2F
30829 F
0828.8F
0828.6F
1828.4
0828.2
30828
0827.8F
0827.6F
1827.4 F

0827.2F

usi_culo

usl_coill:cyclenum {run == 6598}

6601 6601.5 6602 6602.5

cyclenum

usl_caoil6:cyclenum {run == 6598}

-
T

PRI I RPN IR
6601 6601.5 6602 6602.5 6603
cyclenum

5333.4

5333.2

6333 |

3332.8 F

3332.6

5332.4

3332.2

6332

5331.8

3331.6 F

3331.4

33312 F

[

usl_coll/

0.5

usl_coil3:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603

cyclenum

usl_coil7:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

5724

5723.5

5723

5722.5

5722

6600

3599.5

6599

3598.5

6598

5597.5

6597

3596.5

6596

usl_coil4:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

run:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum




73425

27343

73435

27344

73445

usI_coio

1

usr_coill:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

usr_coil6:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

5500.2 F

5509.4
»509.6

5509.8

-5510 F

5510.2

5510.4

5510.6

5510.8

-5511

5112 F

5511.4 L

[

usr_coll/

0.5

usr_coil3:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

usr_coil7:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

5047

5046.5

5046

5045.5

5045

6600

3599.5

6599

3598.5

6598

5597.5

6597

3596.5

6596

usr_coil4:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603

cyclenum

run:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum




—429

-429.5

-430

-430.5

-431]

-466.5

-467

-467.5

-468

-468.5

1X_coill:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

4eX_coill:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

-715

=72

-72.5

-90.5

-91.5

1X_coil3:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

4eX_coil3:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

1X_coll/

4eXx_coll/

[

05

[

1X_coil7:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

4eX_coil7:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum




4aY_coild:cyclenum {run == 6598}
180.5

) IR S S
OTY N SR S R S
) B e

1785 [« beennrenns Eeeeenn e

6601 6601.5 6602 6602.5 6603
cyclenum

4eY_coil4:cyclenum {run == 6598}

190.5

Y IS S S

1885 - beeunrenns Eeeeenn e

6601 6601.5 6602 6602.5 6603
cyclenum

4ay_collb
=

0.5

4eY_collb
=

0.5

4aY_coil6:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603

cyclenum

4eY_coil6:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603

cyclenum

4ay_coll/
=

05

4eY_coll/
=

05

4aY_coil7:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

4eY_coil7:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum




-232.5

-233

-233.5

-234

-234.5

1ZA_CUNO

1

12X_coill:cyclenum {run == 6598}

6601 6602.5 6603

cyclenum

6601.5 6602

12X_coil6:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

12X_coil3:cyclenum {run == 6598}

-83.5

-84

-84.5

-85.5

[

12X_coi/

0.5

6601 6601.5 6602 6602.5 6603
cyclenum

12X_coil7:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

1-0.5

12X_col4

6600

3599.5

6599

3598.5

6598

5597.5

6597

3596.5

6596

12X_coil4:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum

run:cyclenum {run == 6598}

6601 6601.5 6602 6602.5 6603
cyclenum
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